IR D B

/18

FEUTOEREZVT.AED Tem?) Tm3 VT s I 2120 L TEAFLLD,
B 41T/ = .

D TmL =

v \\
rcmé)
\ ’

@ 6dL =

=
rcm?)
\ v

’ \\
1m3 )
\ v

® 40mL =

I/_‘\\
rem?)
\ v

@ L=

v \\
remd)
\ ’

v \\
'm3
\ ’

® 2kL =

I,_‘\\
rcm?3)
\ v

’ \\
tm3 )
\ v

® 6L =

/’ \
'm3
\ ’

@ 3kL =

I/ ‘\\
rem? )
\ v

’ \\
tm3 )
\ v

® 5mL =

/’ ‘\\
rems)
\ ’

v \\
'm3
\ ’

@ 9ImL =

/’ \\
rem3)
\ ’

© 5L =

v \\
rcmé)
\ ’

@ 60kL =

v \\
rcmé)
\ ’

v \\
'm3
\ ’

@ 8dL =

I/_‘\\
rem?)
\ v

I/ \\
1m3 )
\ v

@ 79kL =

v \\
remd)
\ ’

v \\
'm3
\ ’

@ 2dL =

I,_‘\\
rcm3)
\ v

’ \\
m3 )
\ v

® 240kL =

57mL =

I/ \\
rem3)
\ v

’ \\
tm3 )
\ v

’ \\
rem?)
\ v

’ \\
rm3 )
\ v

@ 4kL =

I/ ‘\\
rem?)
\ v

’ \\
'm3 )
\ v

q00kL =

I/ \\
rcm?3)
\ v




IR D B

/18

B AGUATORBEEZENTAED em?) Tm onIny 12120 LTEAELLD,

dD 7mL =

@ 6dL =

® 40mL =

@ L=

® 2kL =

® 6L =

@ 3kL =

® 5mL =

@ 9ImL =

© 5L =

5000 §2

\m? )

@ 60kL =

cm

60

@ 8dL =

800 @

@ 79kL =

@ 2dL =

® 240kL =

57mL =

@ 4kL =

cm

q00kL =

cm

q00




